20 ” * ” 16 5 % 3 12z ° 9 L] 7 6 5 L3 3 2 1
249
DETAIL1 —SENAL 2
Li®24 x ¥39 Scale 84 SIGNAL 1 DETAIL2
PN P cate & __crown 1 Scale 6:1
2 N\ | crezs
|H| ”lu nﬂ =
qiannan L e
ffﬁh T ER T TAEERIT LR /A\\ T WEEK NUMBER
i DAY
|
!
—
L] =0)
150 L PITCH
LATCH SroH -
O.BREE. || |
00000 m L
PITCH
SHELD OISREF ||
- |- 30REF EM GASKET
(OPTIONAL)
60REF, LOCKING PANEL WITHOUT
|- 480REF _, FRONT PANEL MOUNT (OPTIONAL) WITHOUT
(OPTIONAL) WITH T NOTE4 FRONT PANEL MOUNT
M2.0 REF FRONT PANEL MOUNT
" NOTE 7 3
A4
J ﬂ =
w
@ 1
€| | =
LS g -
3 &
@ | | i m o * £ @ E
U T )
o
|
~
% N‘ IR | AN— | T
Jui g hu g J
EM GASKET I [E] I
40 x 2.0 REF. & 645 a1
NOTE 5 ; CRUSH PCB ALIGNMENT PN (CPAP) 20TYP.REF.| |
see DETAIL2 NOTE 6
14.3REF S7TYP REF. L
SOLDER POST
09 x 09 REF. O O 0 (x2) OR (x4) (OPTIONAL)
NoTE 3 09 x 0.9 REF.
NOTES.
1. PRODUCT SPECIFICATION PS-91525-001
2. PACKAGING SPECIFICATION PK-91525-002 (TRAY) PK-91525-004 (TAPE AND REEL)
3. SCREW THREAD M20 X 0.4 PITCH TAPED THROUGH, RECOMMENDED SCREW M2 X 0.4 PITCH,
LENGTH 8mm, WITH A PAN HEAD. RECOMMENDED TORQUE 0.3 Nm,
M20 TYP. REF, 4. LOCKING PANEL (91532) ONE PER CONNECTOR ORDER SEPARATE SEE SALES DRAWING SD-91532-001
NOTE 3 5. PCB DATUM B = B1 + B2 + B3
6. CPAP USED TO ALIGN THE SOLDER TAILS WITH THE PCB SOLDER PADS,
7. SCREW THREAD M20 X 0.4 PITCH TAPED THROUGH. RECOMMENDED SCREW M2 X 0.4 PITCH,
LENGTH 5mm WITH A PAN HEAD. RECOMMENDED TORQUE 03Nm.
see DETAIL1 8. RECPTACLE CONTACTS 127um MN NICKEL ALL OVER
CONTACT AREA 0.10um MN GOLD OVER 0.76um MIN PALLADIUM NICKEL
SMT AREA 3um MN TIN.
9. FOR 12X PARTS PLEASE REFER TO SD-91525-004
— U =53] [quaLTY| GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS THIRD ANGLE
% =2 L8| |syugoLs| (UNLESS SPECIFIED) MM ONLY 6:1 METRIC | © CIpRGECTION
D S=s= mm INCH | DRAWN BY DATE TITLE
GROUND 9 320s030021 L 2 =SS5z W0 [Tramsz— [T WAL 17/01/05 LANELINK F_CONN
SIGNAL 16 & = £ 3 PLACES|+ ——~ |+~  |CECkeDBY DATE 4X LATCH W/0 EMI SHIELD
SGNAL 5 wsREE A2E &5 \/-0 [2PLACEs[z0M0 [+ KOELANEY 20/01/05 OPTION
. o= =4 1PLACE |02 +--- APPROVED BY DATE
o e ofif 2 o L Wlatt v fe8x  MOLEX INCORPORATED
SZ=5 s MATERIAL NO. OOCUMENT NO. SHEET NO.
8z DRAFT WHERE APPLICABLE| SEE SHEET 4 |SD-91525-006 10F 4
z Woox WITHN, DIMENSIONS SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
C g /A "] INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev Towmaoes | ® 0 v L s u o e ® s . ’ s | s ]

4 | 3 2 | 1




2275 825

|
fan
N\

RECOMMENDED PCB LAYOUT
(WITH REAR MOUNTING HOLES)

RECOMMENDED PCB LAYOUT 2275 825
(WITHOUT REAR MOUNTING HOLES)

14,00
|
0 10]A[c] 2000sTYP o2
ey NOTE 2 050 _ |
see DETAIL3
3 \V ) i ) {} ]

[770] x2
18298
NPTH

—

]

II::I
=

i

1

I::
—

]

]

T
c—/

/\
B

9,70

ROSMREF.(x2)

[ EDGE OF PCB
$82+9%
::
_ 602005/ T 5 20T 175] i
INNER SURFACE o]0 -
OF MACHINE PANEL
182REF. |
%50
12.7002)
] NOTES:
1. AREA OUTLINED TO BE FREE OF COMPONENTS
2. THROUGH HOLE IS PLATED GUAUT\( GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
ALL HOLE SIZES ARE FINISHED HOLE SIZES = SyMBOLS| (UNLESS SPECIFIED) MM ONLY 8:1 METRIC |© O PROJECTION
3. RANGE OF PCB THICKNESS 16 TO 4.0mn INCL. E== o NCH | ORAWN &Y DATE[TITLE
4. FOR ANY UNSPECFIED NOTES OR DIMENSIONS, SEE SHEET 1 8 S8Rz W0 [fpLates|z-—- [z-—- |WALSH 17/01/05 LANELINK F CONN
5. THE DESIGN CAN ACCOMIDATE DFFERENT VALUES OF THS -3 £ 3 PLACES|® -~ |+-—-  |cReckeD BY BATE 4X LATCH W/0 EMI SHIELD
— DMENSION BY VARYNG THE EMI GASKET THCKNESS. FOR H2E 2|8 \/-0 [ZPLACES[E040 [=-— KDELANEY 20101/05 OPTION
FURTHER INFORMATION PLEASE CONTACT LOCAL SALES OFFICE. HSE 38 TPLACE [T02 [t-—-  |APPROVED 87 DATE
oS 2 ANGULAR £ 25 WALLACE 28/01/05 @ MOLEX INCORPORATED
=) 254 MATERIAL NO. DOCUMENT NO. SHEET NO.
hoZss DRAFT WHERE APPLICABLE| SEE SHEET 4 |SD-91525-006 2 OF 4
Wuoo< W\Tm\UNSB\MREENQBNNS SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
C & A/‘ INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

e ey | ® ® v 16 s " o 2 " © 9 [ 7 6 | s | . | 3 2 | 1



0 ” *® 7 16 5 % kel 2z " ° 9 L 7 6 5 4 3 2 1
RECOMMENDED 4X PANEL CUTOUT RECOMMENDED 4X PANEL CUTOUT
N WITH FRONT PANEL MOUNT WITHOUT FRONT PANEL MOUNT
M35 . M35 RO30M,
| /T8
O
oo 7
o L1 L L.
R . R S A
— e (OPTIONAL)
“ r FRONT PANEL MOUNT
K
M2.0 x 0.4 PITCH
_— wa/ 12.20
SCALE 34 2270
J
|
H
CONNECTOR WITHOUT
OPTIONAL FEATURES
PANEL CUTOUT
CENTRE LINE SOLDER POSTS OR
6 SCREWS (x2) OR (x4)
SEE NOTE 4
. H
E
RECOMMENDED MACHINE
__, L1020 PANEL THICKNESS
| FronT PANEL 4X PANEL CUTOUT WITH
LBREF. 102REE. FRONT PANEL MOUNT
(OPTIONAL) SEE NOTES:
D | LOCKING PANEL NOTE 3 1. REFER TO SHEET 1 FOR ALL UNSPECIFIED NOTES AND DIMENSIONS.
2. TWO STANDOFFS (91619-0001) REQURED PER CONNECTOR
LOCKING PANEL WITH FRONT PANEL MOUNT ORDER SEPERATELY, SEE SALES DRAWING SD-91619-001.
] :rfns C‘L’L‘;‘” (OPTIONAL) SEE SHEET 1 NOTE 4 3. FINAL ASSEMBLY DMENSIONS.
4. PCB RETENTION OPTIONS:
:ﬂ 2 OR 4 SCREWS, (4 FOR REAR MOUNT OPTION)
¢ Jpm——— 2 OR 4 SOLDER POSTS. (4 FOR REAR MOUNT OPTIONS).
: 5. RECOMMENDED SCREW THREAD M2 X 0.4 PITCH, LENGTH 8nm, WITH A PAN HEAD.
RECOMMENDED TORQUE 0.3 Nm MAX.
| g i@
| ~ (OPTIONAL)
) ) SCREW M2.0x0.4 PITCH =S 38[ [quaLTy| GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS THIRD ANGLE
? LENGTH 8mm {x2) OR (x4) =2 L8| |syugoLs| (UNLESS SPECIFIED) MM ONLY 5:1 METRIC | © CIpRGECTION
8 ‘ ] B== nm INCH | DRAWN BY DATE TITLE
h - 8 SSS\3| =0 [ZPAGES[z-- [x-— WALSH 1710105 LANELINK F CONN
-3 L 3 PLACES|[+-—- [#---  |crecken By DATE 4X LATCH W/0 EMI SHIELD
— CRUSH PCB H2E 2|8 \/-0 [ZPLACES[E040 [=-— KDELANEY 20/01/05 OPTION
ALIGNMENT PN {CPAP) L& =l 1PLACE |[¥0.2 + - APPROVED BY DATE
PEE 2 o L Wlatt v fe8x  MOLEX INCORPORATED
EM GASKET (COMPRESSED! == ; MATERIAL NO. DOCUMENT NO. SHEET NO.
A Hozse DRAFT WHERE APPLICABLE| SEE SHEET 4 |SD-91525-006 3 0F 4
Wuoo< WITHN, DIMENSIONS SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
C g A |NCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
e ey | ® ® v 16 s % o 2 " © 9 L] 7 6 1

| 3 | ¢ | ? z |




20 ® v 16 5 % 2 1 © s [ 7 6 H 4 3 2 1
4X LATCH 110 4X LATCH 1,0 4X LATCH 170 4X LATCH 110

REAR MOUNTS | NO REAR MOUNTS | YES REAR MOUNTS | YES REAR MOUNTS | NO

PANEL MOUNTS | NO PANEL MOUNTS | NO PANEL MOUNTS | YES PANEL MOUNTS | YES

SOLDER POSTS | NO SOLDER POSTS | NO SOLDER POSTS | NO SOLDER POSTS | NO

FART No. PACKAGING PART No. PACKAGING PART No. PACKAGING
91525-0410 TRAY 91525-0412 TRAY 91525-0414 TRAY
91525-8410 [TAPE_AND REEL] 91525-8412 [TAPE_AND REEL 91525-8414 [TAPE AND REEL]

PART No. PACKAGING
91525-0416 TRAY
91525-8416 [TAPE_AND REEL]

4X LATCH 110
REAR MOUNTS | NO
PANEL MOUNTS | NO
SOLDER POSTS | 2

4X LATCH

/0

REAR MOUNTS

YES

PANEL MOUNTS

NO

SOLDER POSTS

PART No. PACKAGING
91525-0450 TRAY
91525-8450 [TAPE_AND REEL

4X LATCH

/0

REAR MOUNTS (YES

PANEL MOUNTS | YES

SOLDER POSTS | 4

PART No. PACKAGING
91525-0452 TRAY
91525-8452 [TAPE _AND REEL]

4X LATCH

/0

REAR MOUNTS

NO

PANEL MOUNTS

YES

SOLDER POSTS

NOTES:

1. REFER TO SHEET 1 FOR ALL UNSPECIFIED NOTES AND DIMENSIONS.
2. REFER TO SHEET 2 FOR RECOMMENDED PCB LAYOUTS.

3. REFER TO SHEET 3 FOR OPTIONAL ASSEMBLY COMPONENTS AND DIMENSIONS.
4. FOR 12X PARTS PLEASE REFER TO SD-91525-004.

PART No. | PACKAGING PART No. [ PACKAGING
91525-0454 TRAY 91525-0456 TRAY
91525-8454 [TAPE_AND REEL| 91525-8456 [TAPE_AND REEL
QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
= SyMBOLS| (UNLESS SPECIFIED) MM ONLY 31 METRIC | © CIpRGECTION
§ = mm INCH DRAWN BY DATE TITLE
8 SSS5|W-0 [Triatesz-—- [5-— |WALSH 17101105 LANELINK F CONN
-3 L 3 PLACES|[+-—- [#---  |crecken By DATE 4X LATCH W/0 EMI SHIELD
&% w8 \7/-0 [2PLACEs[roq0 [1-— KOELMNEY 20/01/05 OPTION
us % é w 1PLACE [x02 +--- APPROVED BY DATE
R 2 o L Wlatt v fe8x  MOLEX INCORPORATED
== ; MATERIAL NO. DOCUMENT NO. SHEET NG.
H===a DRAFT WHERE APPLICABLE| 91525-%4x»» | SD-91525-006 4 OF 4
nooo=| WITHN, DIMENSIONS SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
C g A |NCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frome_A1_P_AM_T
Rev. D 2004/06/28

8 7

L]

]

4

3 2

| 1




